anropuTMm eBKknmaa
4095
6552

6552 | 4095
4095 1
2457

aJiropntTm eBKIinaa
Hoa(4095,6552)=819

4095 | 2457

2457
1638

2457
1638
319

1638
1638
0

1

1638

319

xN3-6x"2+11x-6

XA3-7Xx+6 (X+5)~(2X+ 1 O)

xN3-6x"2+11x-6 | x*3-7x+6
XN3-7x+6 11
-6x"2+18x-12

HOL(-6x"2+18x-12)=HOLO(-6(x2-3x+2))=HOO(x2-3x+2)

XN3-7x+6 | -6x"2+18x-12 yMeHue 0ennTtb B

CTONOUK MHOTIOYN1EeHbI
XN3+0*XN2-7Xx+6 | xM2-3x+2

XA3-3xA242% | x43 NO3BOMAET HOA Aaxe TaM,
3x"2-Ox+6 rae pasnoxuTb
3x"2-9x+6 MHOIOYSIEHbI Ha
0

MHOXUTEJIN HE NOJTYHUTCH

HOL(x*3-6x"2+11x-6,Xx"3-7x+6) = x*2-3x+2

CKOPOCTb paboThl anroputma
eBknuaa (n,m) ~ log_2(max(n,m))
m=1024=2"0

log 2(1024)=10



